
ABCD est isocèle.
Hauteur = 5 cm 
Grande base = 8 cm
Petite base = 4 cm

Le trapèze

ABCD est isocèle.
Hauteur = 3 cm 
Grande base = 6 cm
Petite base = 2 cm

Le trapèze

ABCD est rectangle en
A et D.
Hauteur = 4 cm 
Petite base = 5,5 cm

Le trapèze

ABCD est quelconque.
Hauteur = 2,5 cm 
Petite base = 3 cm
C = 75°

Le trapèze

ABCD est isocèle.
Hauteur = 3,5 cm 
Petite base = 5 cm

Le trapèze

ABCD est isocèle.
Hauteur = 5 cm 
Grande base = 8 cm
Petite base = 4 cm

Le trapèze
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Le parallélogramme

Le carré Le rectangle 

Parallélogramme ABCD 
Base = 4 cm
Hauteur = 3,5 cm

Le carré

Carré ABCD
Côté = 5 cm

Rectangle ABCD
Longueur = 8 cm
Largeur = 5 cm
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Losange ABCD
AB = 4 cm
A = 80°

Le parallélogramme

Parallélogramme ABCD
Base = 5,5 cm
Hauteur = 2 cm
C = 50°

Carré ABCD
Côté = 7 cm

Le losange


